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() DOODO
> qQO
(by 00DODOOO

1+2
2%3
4/3
5-2
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> a <-3
> a

> print(a)
(dy Dooo,000

a <- 11:15
a

al1]

a[3]
al[2:4]

a *x 10

al a>13 ]
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> a <- NULL

\4

a <- c¢( "Moji", "Mori", "Kagaku")
a <- C( 1: 3: 9)

\4
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(c) 00D0ODOD
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>

> seq( 3, 9, 2)
>rm( a )

> help( seq )

data <- read.csv("CSvOOGoOnQoao")
data <- read.table("OOOOOOOOO™)

> plot( xO00O, yOO )

O plot( x00, yOO, type=h’ )ODOOOOOOOOO

> hist( OO0, ODOODOODOO)
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>
>

a <- ¢(10,1,4)
max( a )

min( a )

sum( a )
mean( a )

sd( a )

() 00D0DDOOO-2000-
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> dvinom( OO0 O0ODOOOOO, OOODO, DOOOO0O )
> binom.test( DO OO0OOOOOO, ODOOO, OOOOOO )
0 binom.test( ..., ..., ..., alternative="less") o000

O binom.test( ..., ..., ..., alternative="greater") O00O0O0O

(f) 0000000 -t00-

gboogogn
gbooooon
oooooo
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oooooo

. 0bgoogn

(a) DOODO

O

(]

> runif( OOOOO )

> t.test( OO0 )
t.test( OO0, mu=0 ) 0o0o00oooooDoon
> t.test( OO0 1, ODOO2)
t.test( ..., ..., mu=0 ) O000O0O0OOOOO
t.test( ..., ..., mu=00, alterenative="less") 00
t.test( ..., ..., mu=0, alterenative="greater" ) OO

> for( i in 1:10 ){
print (i)



